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(D) (C) (B) (A) QUESTIONS Q-1
s oL o ef3LT S sl d L SP 2ngidhzr 0L | 1
Bromine Fluorine Chlorine lodine Which one of the following gases isused to Tl
L destroy harmful buctcr}igx in water? 3
FeOSICUS | ulCu,S | mCU0 CuSslFes /,j' I e g | 2
g at FeS FeO FeS and CuS | Matle is a mixture ot::,c\”w
Cu,S and Cu,0 and [_‘1“:4:
FeS FeO ba
Ca0 CaC0; | Ca(OH), co, o Tett Y JINaHCOz2 | 3
When NaH COg.ishéated, it forms
s i P
; . - S LRty ) - Bgy = 3C(g oIS | 4
cr | o | wee | pas TR
AR | 2alBl | ICP 3] wo o
Forthe rcrtéyl;(pn},ZA(g) + Begy & 3L(gy the
expressioffoneduilibrium constant is
,ﬁ../“u::;-rl&/ S50 J,lu:‘"""{idj fjdégld/ LﬁJbJﬁﬂd;&.ﬁ;lﬁ 5
(EW AV %/KU;"(";/ Lﬁfifj,/~ tv S22 % | At dynamic equilibrium
he reaction gtz A5 e
can no longer Iﬂl;é fgﬁgr‘c’if Aot The reaction
bereversed. andreverse | Tpe z:mounts stops to
rea%t&%r; A€ 1 ofreactants proceed
and preducts
are cqual
12,61 1231 1,397 1.698 te LpoHU Y+ L Ca(OH), 0.02M | .6
What is the pOH 0f0.02 M Ca(0H),?
4 . ’ o«
Cotlon | CaMznsr | Cablanz | Ceblaniz - 78 RE SO |
General formula of alky! radical is
Bl CoHas B C3Hy *e_ly A HOctane)el’T | 8
What is the formula of Octane?
el 11,50, KOH NaOH e SA LS Sk zsin SR |9
Dechydration of alcohols can be carried out with
bt nk Ty S¥ _4_;’:?Jlivdf;ufJ5@1) .10
Starch Sucrose Fructose Glucose Which ofthe following is a disaccharide?
Oy NO, 50, €Oy —{—J:VJCJ’(‘?JJ-«&/UJJ{ A
The cause of global warming is
SO e e s s s A S g e e B e
03 Nz cO COz ~e-U b = ~'(j)_:1;_‘/1’ !;l/'lf(/ Ju»;gffu L‘J!( 12
Which gas protects the Earth’s surface from
_ultraviolet radiations?
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Answer bricfly any Five parts from the followings.
Why is equitibrium state attainable from cither wity?

Deline Law of Mass Aclion.

Give e squilibrivn constant ¢ xpression lor syathesis ol animonia,

{from nitrogen and hydrogen.

Detfine conjupate acid and conjugate basc,

Give two characteristics properties of salvs,

Write uses oftwo different bascs,

Give different radicals of isv-butane.

Givetwo canmples ofopen chain orpanic compuds,
Answer bricfly any Five parts from the followings.

What is Ozone hole? ?',;l_fdﬂuu}! (i)

Write down two uses of ethenc.

Why allane can’t be oxidized with KMnOy solufion?

What s the difference hetween ghee and oil?

Give two characteristics ofpolysaccharides.

Write down names of four tegions of atmosphere.

Lefine Primary pollutants. Give one example.

Answer bricfly any Five purts from the followings.

Which bacteria causes the Cholera? *cg_&/;{‘-l/uf% Kz (i)

Why arc pesticides used?

Write any two preventions of waterborne diseases.
Write complele chemical cquation for caleination.
What is the difference between slag and mate?

What s gravity sepwration? Ve )’/UC-—L" /‘/u ;’/ (viit)
JEey | SO NN i1
Note: Attempt any Two Questions.

Define an acid and a basc according to Bronsted-Lowry
conceptand justify with examples.

Whal type of reactions wre given by alkancs? Explain with
reference to halogenation of alkanes.

Define functional proup, Write down functional sroup and

general formula oFaleohol and ether,

What arc Monosaccharides, Explain it. Also give its propertics

Write a comprehensive note on green house cffect.
Define water borne diseascs and write name of any four

discases borne by water.
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What are addition reactions? ('wu/)/(ldzu’ Xt @

_‘_.//‘* VULU‘I»L(ctth) el Gii)

H,CL;Uu‘ /u/r ULk dnc)u_, la’vfg/)l’l(M7lO4 Giv)

MU(/u/u"Ju,ru[ &)

_.:.// VLJ!"?J'J/,V }d/ (vi)

e (Lf//uulpéﬂ"”ﬂ (i)

-c”..:dl/..,ﬁ- J/Jd/u' ;Lu'/i/ (viii)

~u’///"”u(,l_?/‘jdilf!5Lc.,(jfc_ufdlbj) a4 1

What is hepatitis?® et 24/ u‘ L‘ @

bl Sl (iii)

~¢’1.(s./h/uc_,d/£1lfc,u//kd»/d/dt Gv)

AT L. VMJ;L__LW% )

..(_j:t‘.(j/'u:é;l}!s-g/ (i)

(-'c:_)l/brc‘_.ﬂ (vii)
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Define gangue,

9x2=18
SR W L F L 809 35,
il b
/ ST Pt IL§/Vf (/(/\Humw)/(l €))
U L 1p £ R A Tk anes)
,_,A,/U/G.é/’:.;,,‘J’)ﬂ_q/_.y/nﬁ;,/fa
RS B EA
St UL ol i 9 ()
_Z_;/n/’_‘,/(‘j@/?bu@ru;gqf (a) 7

u,y_/'.;./L;JJ;C,faff_xy/Jug/L;.du.ﬁ_.m&c,dg (b)
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(D) (C} (8) (A QUESTIONS Q1
MU oL Az LS CO, s bl Ul e Ui |
2Lt cj,ﬁ‘.‘-/ P C_J,._C In Solvay's process slaked lime is used to
’ Form Recover p;cpﬂrc Prepare

Nay €Oy | ammonia | quigklime | €O, L
Ix 50 | e | g | TR0 e =0 = ’
A125]) | [2a)ls) [C]? e

FFor the reaction 2‘4(9) -+ B(g) = 3C(g) the

expression for the equilibrivm constant is

Sl Ui Jl/’luﬂ»d \_fdi{upf,, D/L)JJ{/.:J/,:
g
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L e Sttt GG | 3
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5 > L/J . N ol Y 'l” .. 4
L""/f"lulfﬂ They They never Lbs "The characteristics of reversible reactions are many
i proceed in complete Pro‘ducks £ dxeept following one.
They have both way never
double arrow recombing
between to form..”
reactants and reactants
products :
- s = ’ i i >/ 2—
HyPO, H,PO; | HPOE~ | PO e Lo i dAYHPOL™ | 4
Pl The conjugate acid of HP OfM is
P o T Y
CnHan CnHonea CaHana [ CnHanao ":-'“’/’L’J/ZE‘JU":’J*”I 5

The peneral formula of alkyle radical is

;..‘A('LSJJ:" .,_fl KJ}/){LJVLJ)”VQ f_‘x’um/}ﬂ .6
) i . _.b/rr_b(U/JU'L{X-g‘..t'b.(%;(uﬁﬂ(i?_uﬁ’[,/
Cil6 Cytlyg CeHya Cylly One of the hydrocarbons reacts with one mole of
hydrogen to Torm a saturated hydrocarbon, what
would be formula of X,

el 11,50, KOt NaO1I _;,Q%JJL/L(/‘:,Lﬁg)_sg/,cfﬁu‘_;wnf%ﬂ 7
Dehydration of alcohols can be carried out with
Gt i g s v‘a,g'/g(jlﬁl(uf:—u:dquﬂ 8
Sareh -} guerose | Fructose | Glucose | Which ofthe following is a disaccharide?
,,.J""'{.’.v/L [’.;;MJ"/”‘? f //;Lﬂ)'ﬁ‘ v.T'_,/“:;‘.l L //' s J’/)L £ i;’ Ju.'.' > Y
Troposphere | Thermosphere | Stratosphere | Mesosphere | Just above the cartls surfoceds L
N0, B0 Jlco, o250, b Saaf e s S Wt | 10

Normally rain water is weakly acidic beeause off

NO, gas 50, gus CO, gus S0, gus

5 ) “
T o s et ce Gorbiird b ssulautdizm | 11
Hepatitis Chaolern Jaundice Typhoid Which ane of the following disciase causes Hiver
inflamation?
Ca0 Calily ca(0l), Coy et ot Fe bV SINaHCO3 2 | 12

when NaH CO4 is heated it forms
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Answer bricfly any Five parts from the followings. 5%2=10 -u_’//_/”wy:?/gé:!'/?légc_,(j)fc_,ufdfjbu _Z/Jl/ %

Give two macroscopic characteristics of Dynamic cquilibrium. ..u_f‘fu!./.plfr“;vgzcjf'»(,(ﬁ/d;{iJ{;’b‘ 6] §
What is stalic equilibrium state? ~AC.&/A'L/C/JL7L)KK/IJJ{1 uL‘/f/ Gi)
How can you know that a reaction has achieved equilibrium state? _cl-y/()jl:ff/?d;glﬁ_uigujf/&,.-:{ uy (iii)
What are indicators, Give example. _g):)(_)'f/uji.,ﬁlfj/‘.(;‘il (v) Define Aduct? ~L[/Vy/’u(_//ﬂ Gwv)
How Soluble Salts arc recovered from wveater? Vw;lpéfd’ibub):fr_.uib -_‘/‘L/Jf'}:/ i)
Give Formula of Formaldehyde and Acctaldehyde? Vu‘a L AL Qdﬁldlulﬂ«kd,«ilm o (viD
Define condensed formula? Give example. ‘u:)dk/.uk/_/_,y/’ L,(U//b,u,d/ Cviii)
Answer bricfly any Five parts from the followings. ~ 5x2=10 -/ F bz & Limbhe Vet st 3, Uir
What do you know about Hydrogenatignof Alkene. ywz'_lgg@,ﬂ/f:_J@LW 95Xk JJ\_._{H @
Decfine Homologous Serics. _’{L/Vé}/‘jb('/"/(u/:';*x G
Why wre the Adkanes called paralling, wc_Jlin’/u;f}éijL s Gid
Define Mono Saccharides and pive example, ...__JJ(//M =i JJ l/c)":’ Giv)

Write structural formala of Fructose. < Jur/bd/f/bﬁ';f) (v) . &
What is meant by Atmosphere and state its composition. _;'_-fugﬁ;,{(fw;_ﬂ/yf; D) ‘1{“

What s the difference between Atmosphere and enviroment. _Zf_J: ugu/ u::,;f'})u:ljf"r”l (vit)

What do you meant by air pollutins, »«A._.—.”/Lr '*‘:l L (i)

Answer bricfly any Five parts from the followings. S5x2=10 _J///uu;// L‘/f((/LC,JJKC_—U)JJC/) _4/‘Ulr
s b bbfu;l_//rd/u’//uk ®
S e G

ty S el ale Gid)

SIS LFmibnl G Gv)

Why walteris called a universul solvent?
Define Soltwater?
Lixplain the discase cholera?

Give any two effects of water pollution.

What is blister copper? ‘.’g,:l/gfa/ /’L vi) Define Mctallurgy? VL[/Vy/JJJ/u: €]
Give two uses of urea? ?q/4}c,ut’»~1,a)<.gjg (vii1) What is calcination? °’_‘_fo:u/L~)/ Gvid)
Parteesswumsswmsoms 11 (3o -

Note: Attempt any Two Questions. 9x2=18 _Q_’fdoglﬁéoﬂlrucaﬁgbﬂ
Explain the Lewis concept of acids and bases with examples. NQ:JQDL/:/&L&;J,:};J}JL’/.? Ipp (&) 5
What type of reactions are given by alkancs? Explain with J}&l?w"c_-)ﬂldzﬁfﬁuf(/\lkancs) A W

Hreslne d i3 L

Write a note on classification of organic compounds. _c’“_ac/:"/_:oé;%){SL;‘)LjLﬁs Sy W 6

* L i i A ()
o 'L'_u*‘”;ub(jl'l/éf’r‘

reference to halogenation of alkanes.

What arc carbohydrates? How monosaccharides are

prepared? Write two characteristics of monosaccharides. e
s 5 i 3 ” ‘G s N .

Deline acid rain and also wrile down its effects. s (ffg;!/uﬁululq/ljj/“(fu_’uai (&) 7

Write a note onany four waterborne discases. L/:’O~L'J;‘;LJ{’J‘_‘;L<A‘:' JLTUL;"’/(J’JL-JT’«B;C———?JJ&L )

1028 - 1021arr - 55000

e e B0 e e F e b S




